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Management and Engi Economics

Time: 3 hrs. .*'tuTtt" x-. Max. Marks: 80U: J IlfS. ** rB'l " &".lvlitr.rl. lvlallliJ.
{'i *' ,trymmm*

Note: l. Answer any FIVEfull questions, #kd$frrg ONEfull questioffin each module.
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2. Use of interest chart is

(08 Marks)

b. Explain briefly the contribrffi;$Bf F.W. Taylor for the spientific management. (08 Marks)
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2 a. Briefly explain the initi&rtance of planning. . *:p (08 Marks)

I a. Define management and t*pgffi.ffifmanageffi
b. Explain briefly the contribut$ of f.W. Taylor for the spieriti

b. Briefly explain t[d,ffiortant steps in plannipg. e (08 Marks)
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3 a. Briefly elqffithe principles of organizatio'ir (08 Marks)

b. Brieflv"dplffifi M.B.O and M.B.E withdadvantases and disadvantases. (08 Marks)b. nrienkW Vt.ti.O anA U.n.ffidadvantages and disadvanta8es. (08 Marks)
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i.-\ F4 a. Explain briefly Maslow's theo;y 6f motivation. .jd&# *_':b, (08 Marks)
b. What is coordination? Exp'lqin the importance ofiMdination. ,* - ;' (08 Marks)
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5 a. With a neat sketc$, explain problem solffiffi decision melii$g (08 Marks)

b. A 45 years old Rffi$#n is planning folhiotWred life. He p*ffit*o invest Rs.30000 every year

for the next lS,.years. The bank g[ve6l2o/o nterest ratdbmpounded annually. Find the

maturityvaludfuhenhe is 60 yearffi.* q # (o8Marks)
rd *' s*. ry$s-sM

Jqft- d#'ffi oR ,#"$'
6 a. Expl@ihe law of demaryl={ifih,supply with price vdisus demand/supply graph. (08 Marks)

b. A perstSh takes a loanc#k#0,00,000 froSggriationalized bank to build a new house at an

_$qteiiest rate of 7.5% Bpffiounded annr;allffiThis amount has to be repaid in 15 years at

,-ffi$Lal installmentsafr4i{tire annual instat{ffifrt that the person has to pay to the bank.

&, tfl # (08 Marks)
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7 a. Brieflyerffiar\t.conditionsffirb*rt*"tthcomparison. (08Marks)

b. A granite c8ftrpany is plalnifg to by a fully automated granite cutting machine. If it isA granite c$flnpany is pl4,pnfutg to by a fully automated granite cutting machine. If it is
purchased under down pfty, cnt, the cqst of the machine is Rs.16,00,000. If it is purchased

under installment basiq*hF:company has to pay 25% of the cost at the time of purchase and

the remaining amount fo*{0 annual equal installments of Rs.2,00,000 each. Suggest the best

alternative for the;cofhpany using the present worth basis at i = l8o/o compounded annually.

-## (08 Marki)
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What is deprecia&&xphin the causesof.depseciation' tos ftarlti
frst cost is Rs.1,00,000 with an estirnated

oR .&y
Explain briefly rate of return, MARR, IRR an! ERR' #r\d.m- (0s Marks)

A company is trying to diversiff its business * q r.M%r *W [ne. The life of the product is

10 years with no ;ilrg. rut* at the end o{it1ffiU1r." initial outlay of the project is

Rs.i0,00,000. The u*.Iut net profit is Rs.3,5ffiG 
-finA 

tne rate of return for the new

business. m"%# (08 Marks)
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Briefly explain the varies elements 1{5..9osf' d (uo r'rarA!'
.;,:;-- inn "^o&fflhros/;av involvins di$ct ftraterial cost of Rs.40,000.

BOSH company produces 500 sg6;ffirgs/dav, lnyo{ine 
^ffi$ffi131ert^affi; ;1ffi ; Ji ;; r& ; 

^o-ffiid;ry 
overhead' opffi 000. As suming. a pro nt. o f

t5% of the seling pril;;d#mbtuerhea-ds to be 30% W; factory cost. Find the selling

pii.L oro". rp*[iug. W- sil @ (08 Marks)

9a.
b.

10 a.

b.
life of 8

Rs.20,

salvage Fof the equipment at the end of its life time is

value for the 5s year using the sum of the years-

digits mdTof dePreciation. ;:x-.\ Y ' ,ql}*dtu*e'W*W (08 Marks)
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